(ECADBI) VA TSV« V1R T « BERIREAZ

="MW 3% 7B 158

RBEAHEERER &
F P REMEHFOCDHFI1R1ITE1EHEGCS

K 2 3 AR

B E 8 IOH=E

ERISEEDTRDLTOIMBV\DEEZRHDOCEZBHNE L, BEZBIT3A

RBENS GuEgHORREERT S,
{Fpr OOHOFOTHOTFOS
% 6
K& 88 FHF E5F HHH—HEHEHE—HEBEHH
MBFM 35 88 3B (w) 188 3048~ 201 304
& =

@58 35 8A8 23B8(A) 106 n~ 128 pa)

@HW 3HF 98 14B(R) 18K 30nHn~ 208 3075

E < B HKERUIE

SNFEAH 10 &

{EPT R Xu1 TEHIH2S

KE R ZRES s HH—HHAEHH

i =

KEBEEFRB D 2:BERIETIC, BIiOSNEESE « TEECHNOE THAHRENET,




[SCABI]

N1 TSV « VA AT 1 BESNESE

HAN3F7H158

& & 10 A
&ES K (E R (9) firs =
1 |R#E AR OUDEF2KX
2 |RfE ZREB <5l
3 |EB® =80 K]
4 (FEME TOER iR ]
5 |3mM hEB RETX
6 |Zhl ELDOH OUDEFIIX
LA 17 Fi s AVAVA) figig 1 X
8 |l Wvx BAR3X
9 Rl <>H i tEA
10 (1BJ)II &5D J\FH
11
12
13
14
15
16
17
18
19

20




(GCABI] 3 &
® A
= g FHE 1% =
. ss000| FHL (B3, 8/23, 9/14
ZNEa1EE 15,000 1,500R X108

EI5hs86M © 12,0008MA, [T

BIAEEED : 6,000AIMA/E

XA —FE 3O F TEIX

=) 5 51,000 | gt RER G
%
18 B TEE ® fisg =
BB 45,000 15000M% 3@
S, BEBAREBHE |
s 1.800] 300/ ¥ 265~ % 3@ =1,800F3
DRI 1,200 m@psEm
S1EE 3.000| shBZRAME
=) 5 51,000 | BEYNOLE= ¥ ek




